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I REH=E

1 BREHSR
(1) BREHE (BELFh)
FE SHsEE | NAE HARE | SiagEE | SHSEE
1E 5 EHALE RIEALE
(%) (%)
5| K & 3,638.0 98.2 92.7 3,704.4 3,926.2
% 5 | BE W - - - - -
5 | &R 80.9 115.2 124.2 70.3 65.1
W | B [LK TE 163.3 96.2 94.9 169.9 172.1
* 5 | B R 0.0 53.0 33.7 0.0 0.0
it 3,882.3 98.4 93.2 3,944.6 4163.4
A B 64.2 108.1 97.4 59.4 65.9
# S S 562.0 92.3 114.4 608.6 491.1
F it 613.3 93.5 112.8 656.1 543.8
E: 1) SOV FOBRCHTENTA—BRLAEVBALH 5.,
2) TOoJ [FEAMAICHEEZZVDED, -] EEEALGTVIDETRT,
3) FAMADIFLADHEIZ0.8ZFL-AXIBEDEET,
(2) BARRERE (B FrY)
A | Sf5E SH55E SMAERE
11A308IR%E |[10A31BRE| (A)—(B) |*ft(%)
(] (A) (B) (10831 BEE)
5| K & 3,638.0 3,283.2 354.9 80.3%
% 5 | & - - - -
5 | & A 80.9 61.3 19.6 101.2%
W | B [LK TE 163.3 126.3 37.1 81.5%
* 5 | B R 0.0 0.0 0.0 53.0%
i 3,882.3 3,470.7 4115 80.7%
-5 t H 64.2 39.1 25.1 91.0%
# S S 562.0 438.0 124.0 80.6%
F B 613.3 469.3 1441 81.4%
1) RELLBREREDRHTH S,
2) SOUFOEGRTHERNRA—HLAEWNGEELH D,
3) ToJ FEEIZHEEZZVWED, -1 FEENALGVEDZETRT,
4) PMAHAOFIELADOHEIC0.8ERLE-IXIBEDEEH,
(3) KFEDIDEXRKDFRALLE
ZH | BREHRE £ # A K = ( % ) 8L 7
FE (Fro)| 1 = 2 % 3 % B/ s | (s TFe)
5 & & 3,638.0 61.2 30.3 7.1 14 0.1
<3,283.2> <61.3> <30.5> <1.1> <A.1> <0.1>
3,704.4 78.7 18.0 2.1 1.2 0.2
4 & E (4,529.7) (78.6) (17.5) (2.0) (1.8) 0.2)
3,926.2 83.1 14.4 14 1.0 -
3 & E (4,794.6) (83.1) (13.8) (1.4) (1.7) -
SEE—A4FE(KRAVL) -17.4 12.3 49 0.2 -
S5HEE—SFE(RAUEL) -21.9 15.9 5.6 0.3 -
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DETH D,
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5) 01 [FEFEICHEEZZVED., -] EEEFALGTVLDETRT,
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2 EEMNREHRE
(B k)

12} Al O |KFEIBIERK|KMBIEXRK|(EBEERA XX |ERSIIZERX|EM/ELXX
I & E 414,110 369,923 42,099 2,088 - -
RiLRBE 1,217,305 1,163,043 41,029 13,233 - -
HF & 167,427 165,284 734 1,409 - -
A2 F 137,082 127,601 8,483 998 - -
T OB 189,556 183,688 4,826 1,042 - -
m A 292,356 271,195 17,321 3,840 - -
[ITR 223,934 213,679 6,910 3,345 - -
= B 206,950 201,596 2,755 2,599 - -
T 677,622 655,866 13,086 8,665 - 5
% 172,346 170,762 1,132 449 - 3
wm K 159,497 156,749 600 2,146 - 2
B OB 22,774 22,563 59 152 -
% E 40,188 39,998 59 132 - -
F % 157,565 147,384 9,902 279 - -
B Om 62 41 - 21 - -
#w &= N 4,343 4,157 34 153 - -
o R 5,851 5,450 80 321 - -
E B 88,335 83,076 864 4,395 - -
B M@ 26,660 25,687 357 617 - -
JLEER B 699,409 645,434 37,640 16,335 - -
£S5 437,895 398,047 29,870 9,978 - -
E W 112,456 105,504 3,864 3,088 - -
a 78,671 75,114 2,370 1,188 - -
B H# 70,387 66,769 1,536 2,082 - -
HiERBE 134,197 130,317 2,168 1,711 - -
g B 28,004 26,021 1,299 684 - -
2 A 45,607 44,602 569 436 - -
= B 60,586 59,694 300 591 - -
TR 174,394 148,748 3,160 22,485 - -
# =B 72,330 68,776 2,251 1,304 - -
m OB 20,237 19,345 156 736 - -
X B 4,408 4375 11 22 - -
E & 60,305 39,641 673 19,991 - -
= B 13,108 12,657 58 394 - -
M I W 4,005 3,954 13 39 - -
FEENERRE 278,264 259,128 4,808 14,329 - 0
E 22,021 21,170 362 489 - -
& B 36,791 34,694 1,226 870 - 0
2 T 63,341 56,108 1,131 6,102 - -
L B 50,702 46,429 850 3,423 - -
w o 37,600 34,462 661 2,477 - -
m B 19,366 18,911 65 390 - -
EF 11,165 10,944 183 39 - -
B E 17,536 17,266 131 138 - -
5 19,742 19,143 197 401 - -
AR 285,862 264,441 19,352 2,070 - -
B @ 55,579 53,630 1,043 905 - -
&t = 50,630 39,423 10,666 541 - -
E B 11,492 11,360 50 81 - -
[N 69,610 62,160 7,082 367 - -
X %@ 23,996 23,617 227 151 - -
T g 37,751 37,702 27 21 - -
B R B 36,805 36,547 256 2 - -
i i 1,129 1,128 1 - - -
& &t 3,882,292 3,638,028 163,344 80,915 - 5
E 1) SUCFRDBERCHENRDA—BLAENBEABHYET ,
2) TONFBEFITHIAZWED. [-1FEEILGVBDOERLTVET,
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2 BEHIRERE GIMALARUVEMARIK)

(k)

23 Al AL | AHEBRX

t & = 748 40,253

HIiLBEE 15,755 198,795

' & 9,971 39,041

5 F 3,003 22,604

T W 967 40,029

M = 52 20,050

(I TR 1,629 20,019

E B 134 57,053

BRERE 16,651 213,221

*x W 2,659 69,503

m K 5,443 65,960

B OB 215 4,430

B E 1,073 12,908

F OE 2,776 57,252

B = - -

W= ) - 65

(1T 101 8

£ % 1,120 796

i M| 3,264 2,299

LERBE 1,698 38,511

R 960 20,570

E W 703 5911

g N - 4,760

B H 36 7,270

HEREBE 8,928 20,206

g B 6,328 7,385

E A 1,170 5,542

= = 1,429 7,278

g3 14 2411 10,333

B 477 7,492

m 355 167

X K - 32

' E 1,579 2,448

= B - 194

M ;W - -

fhE N E RS 6,215 23,663

B W 378 932

B 1R 96 1,470

2 T - 7,540

L B 3,630 451

w o 1,689 4,039

s B - 3410

F N 321 187

Z  IE 95 1,305

= A 6 4,330

NIMBBE 11,766 17,026

B & 334 3,025

&t = 66 3,663

k& 327 89

[ 684 4,105

X 5,592 2,788

B 1A 3,356 1,042

BE R B 1,407 2,316

bid i - -

& it 64,172 562,008
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3 FRABREHE
(1) KIESIDE K

(BAr:b2, %)

T B’ = B & % & b=
#w 1% 2 % 3 %5 |11 2% [3 % [#H&4
i & E 369,923 323208| 27,490 6,174] 13,051 874 74 1.7 35
RiILEBE 1,163,043 787,929| 340058| 28,469 6,587 67.7 29.2 24 06
' & 165,284 112,760 49,620 2,634 270 68.2 30.0 1.6 0.2
5 F 127,601 116,279 10,421 745 156 91.1 8.2 0.6 0.1
T W 183,688 152,248 27,733 2,830 877 82.9 15.1 15 0.5
M@ 271,195 155,334| 97,587 14,397 3,877 57.3 36.0 5.3 1.4
(1T 213,679 98,561| 109,618 4473 1,026 46.1 51.3 2.1 0.5
z B 201,596 152,746 45,078 3,390 381 75.8 22.4 1.7 0.2
BRERE 655,804 482207| 142573 24,132 6,892 735 217 37 1.1
*x W 170,700 94.824| 67,215 8,104 557 55.6 39.4 47 0.3
T N 156,749 131,880 22,702 1,494 672 84.1 14.5 1.0 0.4
B OE 22,563 14,708 6,500 1,306 50 65.2 28.8 5.8 0.2
B E 39,998 11,476 14,289 9,387 4,846 28.7 35.7 235 12.1
F OE 147,384 129,215 16,276 1,350 543 87.7 11.0 0.9 0.4
® X 41 - 2 37 2 - 5.7 90.0 43
wxE 4,157 620 3,286 242 9 14.9 79.1 5.8 0.2
(1T 5,450 3919 1,334 186 12 71.9 245 34 0.2
E B 83,076 75,919 6,268 825 64 91.4 75 1.0 0.1
B M 25,687 19,645 4,701 1,202 138 76.5 18.3 47 0.5
LEEBE 645,417 241,264| 244,074 146,039 14,039 374 378 226 22
¥ & 398,030 62,729| 186,778 137,102 11,420 15.8 46.9 34.4 2.9
E W 105,504 62,700 36,229 6,109 465 59.4 34.3 5.8 0.4
a 75,114 59,948 13,509 1,338 319 79.8 18.0 1.8 0.4
i 66,769 55,887 7,558 1,490 1,835 83.7 1.3 2.2 2.7
REEBE 130,317 48726 69,494 11,015 1,083 374 53.3 85 038
g B 26,021 13,020 11,165 1,296 540 50.0 429 5.0 2.1
2 44,602 17,178 19,599 7,452 374 385 439 16.7 0.8
= B 59,694 18,528 38,729 2,268 169 31.0 64.9 3.8 0.3
RREBE 148,748 78,959| 60,766 8,423 599 53.1 409 5.7 04
B OB 68,776 38,020 28,740 1,883 132 55.3 418 2.7 0.2
W &b 19,345 10,998 6,461 1,750 136 56.9 334 9.0 0.7
X & 4375 1,736 1,997 619 23 39.7 45.6 14.2 05
E E 39,641 16,043 20,009 3,394 196 405 50.5 8.6 0.5
= B 12,657 11,028 1,366 213 50 87.1 10.8 1.7 0.4
M oW 3,954 1,134 2,193 563 64 28.7 55.5 14.3 1.6
hENEESBE 259,128 158,576 86,133| 12,132 2,287 61.2 332 47 09
BE 21,170 10,546 9,366 1,185 73 498 442 5.6 0.3
B R 34,694 19,377 11,600 2,976 742 55.9 334 8.6 2.1
i 56,108 41,692 12,690 1,366 360 743 22.6 24 0.6
L B 46,429 39,403 6,263 690 74 84.9 135 15 0.2
w A 34,462 26,241 7,124 952 146 76.1 20.7 28 0.4
m B 18,911 8,041 9,346 1,322 202 425 49.4 7.0 1.1
F 10,944 1,833 8,526 561 24 16.7 77.9 5.1 0.2
T IE 17,266 7,763 8,561 699 243 45.0 49.6 4.1 1.4
= Al 19,143 3,682 12,657 2,381 423 19.2 66.1 12.4 2.2
NN EBE 264,441 105,724| 132,346 20,980 5,391 400 50.0 7.9 20
E @ 53,630 10,777 38,544 2,790 1519 20.1 719 5.2 28
t B 39,423 26,789 11,389 498 747 68.0 28.9 1.3 1.9
£ & 11,360 5,994 4,932 357 76 52.8 434 3.1 0.7
B A 62,160 20613| 36,906 3,088 1,553 33.2 59.4 5.0 2.5
X & 23,617 13,103 9,362 976 176 55.5 39.6 4.1 0.7
=0 37,702 15,727 12,931 8,194 850 41.7 34.3 21.7 23
BERE 36,547 12,720 18,282 5,076 469 348 50.0 13.9 1.3
bid 1,128 642 350 101 36 56.9 31.0 89 3.2
& & 3,637,949| 2227,235| 1,103,283 257,465 49,966 61.2 30.3 7.1 14
E:. 1) SO FOBRCHERNRA—BLANGEAHYET .
2) TOJ IFEAEICHEZGEVWED, T-] FEENTVILOERLTVET,
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_(2) KIEEBEHXK _ (BT %)
B g _ 5 = # = = & ke =
#w F ] 2 % 3 F [HEN11F | 2% | 3 F |HEgsN
it & & 42,099 40,377 780 34 907 95.9 19 0.1 22
RiILEBE 41,029 11,679 25,355 3,061 934 285 61.8 75 23
' & 734 135 579 17 3 18.4 78.9 24 0.4
5 F 8,483 5,096 2,040 952 395 60.1 24.0 1.2 47
T W 4,826 570 3,563 689 5 11.8 738 14.3 0.1
G- 17,321 571 16,055 458 237 33 92.7 2.6 1.4
(1T 6,910 3,665 2,189 797 258 53.0 31.7 115 3.7
E B 2,755 1,643 930 147 35 59.6 33.7 5.3 1.3
BREBE 13,086 9,617 2,968 399 103 735 227 30 038
*x W 1,132 582 449 73 28 51.4 39.6 6.5 2.5
T N 600 450 129 15 6 749 215 2.5 1.1
B OE 59 21 18 20 0 36.0 30.3 333 0.4
B E 59 21 20 16 2 35.2 348 26.7 33
F OE 9,902 7,630 2,015 227 29 771 20.4 2.3 0.3
B R -
wxE 34 1 27 4 2 2.4 80.0 12.8 48
(1T 80 33 17 4 26 414 218 44 324
£E % 864 638 198 22 5 739 23.0 2.6 0.6
B M 357 241 93 18 4 67.6 26.2 5.1 1.1
LEEBE 37,640 19,346 16,161 1,791 343 514 429 48 0.9
¥ & 29,870 13,725 14,573 1,322 250 459 4838 44 0.8
E LW 3,864 2,813 837 190 24 72.8 21.7 49 0.6
a 2,370 1,507 527 268 68 63.6 22.2 1.3 2.9
i 1,536 1,302 224 11 - 84.7 14.6 0.7 -
REEBE 2,168 935 1,043 174 16 431 48.1 80 0.7
g B 1,299 747 450 92 10 575 346 7.1 0.8
2 569 138 386 41 5 242 67.8 7.1 0.8
= B 300 51 207 41 1 16.9 69.0 13.8 0.3
RREBE 3,160 406 2,102 616 36 12.9 66.5 195 1.2
# B 2,251 128 1,625 469 30 5.7 72.2 20.8 1.3
" O 156 8 119 26 2 5.2 76.5 16.7 1.5
X & 11 1 6 4 0 13.6 51.5 32.9 1.9
E E 673 269 301 100 3 40.0 448 14.8 0.4
= B 58 0 45 11 1 0.4 78.1 19.6 1.9
M 3 W 13 - 6 6 1 - 43.7 50.7 5.6
hEMNEEBE 4,808 1,849 2,346 518 95 385 488 10.8 20
E W 362 188 148 26 0 51.9 410 7.1 0.0
E R 1,226 631 406 163 27 51.4 33.1 13.3 2.2
MW 1,131 08 909 96 28 8.7 80.4 8.5 2.4
L B 850 381 334 132 3 448 39.3 15.5 0.4
1T 661 509 124 26 3 77.0 18.7 3.9 0.4
% 5 65 13 42 6 4 19.6 64.4 9.3 6.7
F N 183 26 129 28 1 14.1 70.5 15.2 0.3
Z & 131 3 91 15 22 2.3 69.6 11.1 17.0
= Al 197 0 163 27 7 0.1 82.7 13.6 36
NIHEBE 19,352 7073| 11,397 616 267 365 58.9 32 14
& @ 1,043 118 790 84 51 11.3 75.7 8.1 49
t B 10,666 6,380 4128 67 91 59.8 38.7 0.6 0.9
E B 50 41 4 3 2 80.9 8.0 6.9 43
B A 7,082 489 6,158 344 91 6.9 87.0 49 1.3
X » 227 8 207 10 2 3.6 91.1 43 1.0
R 27 1 7 14 5 5.1 26.6 51.9 16.5
BERE 256 36 102 93 25 13.9 39.9 36.5 9.7
b 1 - - - 1 - - -l 100.0
& &t 163,344 91.284| 62,151 7,208 2,701 55.9 38.0 44 1.7
E: 1) SO FOBRCHERNRA—BRLANVEEAHYET .
2) Tol FEMISHEEGLWED., -1 EEENGVHLDOZERLTVET,
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(3) EEERZX _ (B by, %)
2 5 _ 5 = 0 = % & ke =
BB L | FE(1% |2 % F | BEalE L F1 %2 %83 F(assn
it & E 2,088 - 196] 1,813 42 24 14 -] 94] 868] 20] 1.1] 07
RILEBE 13,233 11 392| 9139 2528| 1,093 701 o1| 30| 69.1| 191| 83| 05
' & 1,409 - 128 1,207 69 4 - -l 91| 857| 49 03 -
5 F 998 - - 305 423 271 - - -| 305| 423 27.1 -
T W 1,042 - - 157 359 524 2 - -| 15.1| 34.4| 503| 02
A 3,840 - -| 3186 539 95 20 - -| 830| 140 25| 05
(1T 3,345 11 262| 2,182 683 161 471 03| 78| 652| 204| 48| 14
z B 2,599 - 2| 2103 455 39 1 -| 01| 809 175 15/ 00
BRERE 8,665 7 338| 6,805 924 435 156] 01| 39| 785 107 50| 18
* W 449 - 29 212 86 116 6 - 65| 472 19.1| 258 14
T N 2,146 7 281| 1,479 197 48 135 03| 13.1] 689] 92| 22 63
B OE 152 - - 100 38 14 - - -| 657 254| 89 -
B E 132 - - 64 53 7 7 - -| 485| 406| 52| 57
F OE 279 - - 230 41 8 - - -| 82.4| 145| 30 -
H = 21 - - - 0 21 - - - - 01| 99.9 -
wxE 153 - - 74 39 39 1 - -| 486 255| 253| 06
(1T 321 - 1 238 58 18 6 -l 04| 742 179 57| 1.7
E B 4,395 - -| 3994 308 93 1 - -l 909| 70| 21| 00
% @ 617 - 27 414 105 71 1 -l 43| 67.1| 170 115 0.1
LEEBE 16,335 - -| 6583] 8356 1,290 106 - -| 40.3| 512 79| 07
¥ & 9,978 - -l 1941 6687 1246 103 - -l 195| 67.0| 125 1.0
E LW 3,088 - -l 1,937 1,142 9 - - -| 627 370 03 -
a 1,188 - - 954 217 15 1 - -| 80.4| 183 12| o.1
B H 2,082 - -l 1,751 310 20 2 - -1 84.1| 149 09| o.1
REEBE 1,711 2 545 815 292 50 7| o1 318| 476| 17.1] 29| o4
g B 684 - 424 217 40 2 2 -1 61.9] 316 58 04| 03
2 436 - 6 283 135 11 0 -l 15| 650 309 25| o0.1
= =B 591 2 115 315 118 36 5| 04| 19.4| 533| 200 61| 08
RREBE 22485 1,372| 12,808 4,045| 2,032| 1,509 720] 6.1| 570 180| 9.0 6.7 32
OB 1,304 - 41 668 477 80 37 -| 32| 51.3] 366| 62| 28
W &b 736 - - 335 298 96 7 - -| 455| 405 13.1| 09
X & 22 - - 1 7 12 1 - -| 67| 336| 562 35
gk & 19,991 1,372 12,745 2,824 1,119 1,263 670] 69| 637 141 56| 63| 34
= B 394 - 22 216 100 50 6 -| 56| 549 253| 127 15
M oW 39 - - - 31 8 - - - - 79.7| 203 -
PENMESBE | 14,329 5| 3005 8116| 1,386 1,256 561] 00| 210 566/ 9.7 88| 39
B W 489 - 24 234 180 47 5 -] 49| 478| 36.8] 96/ 1.0
B R’ 870 - 6 519 251 86 7 -l 07| 59.7| 289 99| 08
m W 6,102 5 280| 4,383 315 713 405 o0.1| 46| 718 52| 11.7] 66
= B 3,423 -l 1,803| 1,243 226 62 89 -| 527 363| 66| 18/ 26
w A 2,477 - 576 1,480 149 222 50 -| 232| 59.8| 60 90| 20
m B 390 - 281 76 - 32 1 -| 72.0] 194 -| 82 04
F 39 - - 15 18 6 - - -| 38.8| 46.7| 145 -
T IE 138 - 26 49 51 12 2 -| 18.6| 35.2| 36.6] 86| 1.1
= Al 401 - 10 116 197 77 2 -| 24| 29.0| 49.1| 19.1| 04
NIHEB S 2,070 - 44| 1,465 320 178 63 -| 21| 708| 155/ 86| 30
& @ 905 - - 706 154 36 10 - -| 77.9] 170 40 1.1
t B 541 - 26 448 29 9 29 -| 49| 828/ 54| 17| 53
£ 5 81 - 1 13 44 20 3 -| 15| 157 544| 242| 41
B A 367 - 7 275 33 40 11 -l 20| 751 91| 109 30
X 2 151 - 9 24 53 64 2 -| 58| 157 35.1| 421 13
-0 21 - - - 5 8 8 - - -| 244| 378| 377
BERE 2 - - - 1 1 - - - -| 43.4| 566 -
;‘q: -
& &t 80915 1,397| 17,328| 38781| 15880 5833 1,697| 17| 21.4| 479| 196| 72| 21
E: 1) T FOBRCHERNRDA—BLAEVBEAHYET .
2) TOJ IFEAEICHEZGEVWED. T-] FEEINTVLOZERLTVET,
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(4) gAHALHEUEMARK

(BAr:b, %)

B ow | RE#BE (b)) [spkxEta)|[R & B & (3 %) [E@itE (BH)
A& B I BENlE K (|FEEN wE & % | HEanl e % [BEgs
It & & 748 748 - 100.0 - 40,253 40,247 7 100.0 0.0
HIiLBEE 15,755 15,755 -l 100.0 - 198,795 198,788 7 100.0 0.0
' & 9,971 9,971 -l 1000 - 39,041 39,039 2l 1000 0.0
5 F 3,003 3,003 -l 1000 - 22,604| 22,604 -l 1000 -
T W 967 967 - 100.0 - 40,029 40,024 5 100.0 0.0
A 52 52 -l 1000 - 20,050| 20,050 -l 1000 -
(1T 1,629 1,629 -l 1000 - 20,019| 20,018 1 100.0 0.0
E B 134 134 -l 1000 - 57,053| 57,053 ol 1000 0.0
BARERE 16,651 16,651 -l 1000 - 213,221 213,218 2l 1000 0.0
*x B 2,659 2,659 - 100.0 - 69,503 69,503 - 100.0 -
T N 5,443 5,443 -l 1000 - 65960 65,960 -l 1000 -
B OE 215 215 -l 1000 - 4,430 4,430 -l 1000 -
B E 1,073 1,073 -l 1000 - 12,908 12,906 2l 1000 0.0
F OE 2,776 2,776 -l 1000 - 57,252| 57,252 -l 1000 -
B R - - - - - - - - - -
w &= - - - - - 65 65 - 100.0 -
(1T 101 101 -l 1000 - 8 8 -l 1000 -
E % 1,120 1,120 -l 1000 - 796 796 ol 1000 0.0
B M 3,264 3,264 -l 1000 - 2,299 2,299 -l 1000 -
LEEREE 1,698 1,698 -l 1000 - 38,511 38,507 5] 1000 0.0
¥ & 960 960 -l 1000 - 20570| 20,568 2l 1000 0.0
E W 703 703 -l 1000 - 5911 5911 -l 1000 -
a - - - - - 4,760 4,758 2l 1000 0.0
B H 36 36 -l 1000 - 7,270 7,270 -l 1000 -
HERBE 8,928 8,928 -l 1000 - 20,206| 20,206 -l 1000 -
g B 6,328 6,328 -l 1000 - 7,385 7,385 -l 1000 -
2 1,170 1,170 -l 1000 - 5,542 5,542 -l 1000 -
= =B 1,429 1,429 -l 1000 - 7,278 7,278 -l 1000 -
g3 4 2,411 2,411 -l 1000 - 10,333 10,328 4l 1000 0.0
#% B 477 477 -l 1000 - 7,492 7,492 -l 1000 -
" O 355 355 - 100.0 - 167 167 0 99.9 0.1
X & - - - - - 32 32 -l 1000 -
E E 1,579 1,579 -l 1000 - 2,448 2,444 4 99.8 0.2
= B - - - - - 194 194 - 100.0 -
M 3 W - - - - - - - - - -
HhE N E R 6,215 6,215 -l 1000 - 23663| 23663 ol 1000 0.0
B W 378 378 -l 1000 - 932 932 -l 1000 -
g R 96 96 - 100.0 - 1,470 1,470 - 100.0 -
@ W - - - - - 7,540 7,540 -l 1000 -
L B 3,630 3,630 -l 1000 - 451 451 -l 1000 -
w A 1,689 1,689 -l 1000 - 4,039 4,039 -l 1000 -
5 - - - - - 3410 3410 - 100.0 -
F N 321 321 -l 1000 - 187 187 -l 1000 -
B B 95 95 -l 1000 - 1,305 1,305 -l 1000 -
= 6 6 -l 1000 - 4,330 4,330 ol 1000 0.0
NINBEE 11,766 11,766 - 100.0 - 17,026 17,019 8 100.0 0.0
B 334 334 -l 1000 - 3,025 3,025 -l 1000 -
® E 66 66 - 100.0 - 3,663 3,656 8 99.8 0.2
£ & 327 327 - 100.0 - 89 89 - 100.0 -
B K 684 684 - 100.0 - 4,105 4,105 - 100.0 -
X 9 5,592 5,592 -l 1000 - 2,788 2,788 -l 1000 -
=S 3,356 3,356 -l 1000 - 1,042 1,042 -l 1000 -
BER B 1,407 1,407 -l 1000 - 2,316 2,316 -l 1000 -
;‘q: - - - - - - - - - -
& &t 64,172 64,172 -l 1000 - 562,008 561,975 33] 1000 0.0
E:. 1) SO FOBRCHERNRA—BRLANVEEAHY £ .
2) TOJ IFEEICHEEZGEVWED. T-] FEEINTVLOZERLTVET,

-8-




4 WWAREHE

(1) KFES3%bEX
(BB ko, %)
o n = 3 & 4 #=
an iz E i w3 = > = 3 = (BB

ICS6E S 224 - 26.8 73.2 -

HLVEDOMEY B | 1,248 53.6 35.6 10.2 0.7
ZF AN 19,605 60.6 35.8 33 0.3

o T2 84 32 - 135 86.5 -
N 20,885 60.1 35.7 3.9 0.4

HLVEDIAH T A 643 66.2 315 2.3 -

hHHY-oZ T & 16 17.9 - 82.1 -

FLITUY = W -

HEIFLE F N 16 80.7 19.3 - -
B X 2,165 91.8 7.9 0.0 0.2
= 17 61.3 31.9 6.7 -

on 18 8 4R =
N E 2,198 915 8.2 0.1 0.2

HEIMY E W 14 100.0 - - -
= H# 8,199 87.3 8.3 20 24
I B 276 14.2 76.3 8.4 1.1
5 B 9,555 87.4 1.1 14 0.1
"= B 5,938 44.9 46.1 75 1.6

............. Z 2,179 225 72.9 46 0.1
N E 26,160 71.6 24.0 33 1.2
hE-CFEL HF & 862 80.8 18.6 0.6 -
5 F 15,116 93.2 5.9 0.7 0.3
= B 15 57.1 35.6 7.2 -
o\ 213,229 56.9 37.2 46 1.3
W 3,225 66.2 30.6 1.8 1.4
= B 669 87.5 11.8 05 0.1
*x 30,369 77.7 20.2 1.8 0.3
% X 1,277 50.7 46.7 2.3 0.3
F o= 5,725 86.6 12.0 1.3 0.1
R 135 48.0 27.6 24.4 -
E W 8 - 49.6 431 7.3
Y= | 8 100.0 - - -
E % 8,145 93.0 6.5 0.4 0.1
I, E 2,020 86.8 11.7 1.2 0.3
% g 16 35.4 59.6 5.0 -
o 1,427 58.1 38.7 3.1 0.1
= B 2,018 447 52.7 26 -
B B 1,333 77.2 21.9 0.8 0.1
X R 73 1.1 73.8 21.3 37
B & 196 58.5 31.0 9.6 0.8
= B 70 48.9 27.9 18.3 5.0
E mW 4 - 100.0 - -
B W 7,432 76.0 20.0 26 14
E B 1,353 93.8 5.0 05 0.7
W A 24 100.0 - - -
m B 20 32.9 44.7 22.3 0.2
= ) 17 495 451 55 -
B g 1,562 14.0 75.8 9.2 1.1
= AN 82 35 74.2 223 -
X » -
w7 33 57.2 417 10 -
o 1E 87 0 - - 100.0 -
N 296,464 63.3 31.9 3.8 1.0

HE-EHY . H 3 100.0 - - -

HELIESY | -

fE635 Mo|E 1,124 8.7 - 17.3 74.1

on 12 # #A -
s 1,124 8.7 - 17.3 74.1




(BAL:kr. %)

= Y £ % %& J:I: K
[=]=] *i EE i‘“."! g&\ a % 2 % 3 % fE *g‘ %
HEEHS = B 124 66.1 33.2 0.7 -
% W 101 88.5 1.1 36 6.8
w K 222 95.3 1.1 36 -
B -
w E -
F o= 217 26.8 51.6 215 -
o o8 995 6.5 23.9 64.5 5.2
E W 1,647 34.8 452 19.6 0.4
A 191 745 24.9 05 0.1
E H 118 74.0 26.0 - -
Al 344 - 65.4 17.4 17.3
% B 640 383 53.4 8.3 -
E E 977 17.7 64.7 172 0.3
B W -
E 63 - 100.0 - -
M W 17 - 100.0 - -
5 B 275 90.3 9.1 0.6 -
T B 2 - 100.0 - -
B X 32 64.4 35.6 - -
X » 147 13.9 74.1 55 6.5
= 945 - 13.0 79.9 7.2
on T8 88 4R 323 77.1 20.3 25 0.1
N F 7,379 30.7 38.4 28.2 28
TE¥YKR IS 61 - 31.0 69.0 -
mEE BE K 9 10.6 17.0 50.0 22.4
D B3 B 4773 52.4 45.1 2.3 0.2
MDESHE o| 277 52.3 34.7 13.0 -
on 18 8 4R =
N E 277 52.3 34.7 13.0 -
HEDEL BERE 300 65.2 32.7 2.1 -
7xehU fE 207 98.5 15 - -
on 18 8 4R 10 52 1 47.9 - -
B 217 96.4 3.6 - -
HEFHH BERE 8,233 478 441 7.0 1.0
HEFSY B XK 1,251 17.6 80.5 18 0.2
X & 15 100.0 - - -
on T2 #4 #A 1 100.0 - - -
N B 1,267 18.6 79.5 1.7 0.2
hEFEDY T 73 93.3 6.5 0.2 -
HEAFA L B 3,443 86.7 12.2 1.0 0.1
i T8 84 1A 1 - 100.0 - -
N 3443 86.7 12.2 1.0 0.1
TR/ @ W 13,325 825 16.7 0.8 0.1
on 1E 8 WA 1 100.0 - - -
N E 13,326 82.5 16.6 0.8 0.1
OB B -
m ¥ -
N E -
#HHE B 4503 81.1 16.9 16 04
on 1E 8 4R 15 100.0 - - -
N E 4518 81.1 16.9 1.6 0.4
HIVDE * 3,337 47.3 44.7 8.0 0.0
I K 17,272 67.8 29.4 20 0.8
B 15,571 68.2 28.5 3.2 0.1
B E 833 379 32.8 24.6 47
[TT! 454 70.2 26.6 3.2 0.0
g B 631 21.8 61.2 138 32
B | 32 29.9 70.0 0.1 -
F AN 173 9.6 36.7 17.0 36.7
on 18 8 4R =
N E 38,302 64.5 31.0 3.8 0.7
HpE F & 196 87.2 12.5 0.3
BEHEOHEY 3 B 31 - - 100.0 -
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(BBI: ko, %)
= Y £ % %& J:I: $

o iz E i w3 = = 3 = (B & A

¥ it i & 81 95.6 40 04 -

¥mA ER B 2 - 100.0 - -

HPOUVH it &/ & 567 89.6 2.6 7.9 -

HHHDY m OB 10 16.4 545 0.6 28.5
on T2 $4 # -

N 10 16.4 545 0.6 28.5

REZED Mo\ 623 829 16.8 0.4 -
tn 18 84 4R -

N E 623 82.9 16.8 0.4 -

A4oEHhY g 379 65.8 141 20.1 -

= = 33 19.5 80.5 -

M oW 45 413 475 10.7 0.5
m B -

2 A 53 45 73.3 11.0 11.3

B IR B 2,872 7.4 70.9 19.0 2.6

N E 3,382 145 64.4 18.7 2.4

W& F ¥ 15 - 100.0 - -

tn 18 8 4R 98 - 71.7 28.3 -

N 113 - 75.4 246 -

—&B/E * W 730 75.0 22.0 3.0 0.0
on T8 84 1 »

I 730 75.0 22.0 3.0 0.0

WsIZFEHh g H 6,547 96.4 3.6 0.1 0.0

WEEIE-ZY BB 144 40.1 37.8 22.2 -
on 12 #2 =

N E 144 40.1 37.8 22.2 -
LDLDE T W -

W 16 38.4 39.3 22.3 -

* W 1 75.0 25.0 - -

/7 N 28 92.4 40 3.6 -

F oE 15 93.5 6.5 - -

B 47 - 7.0 70.6 224

E % 62 222 77.8 - -

g B 853 56.8 241 13.7 5.4

% M| 3 83.0 - 17.0 -

Z 18 17.0 83.0 - -

m B 0 - 50.0 50.0 -

g &E 7 6.3 87.8 5.9 -

LB 7 100.0 - - -

N E 1,057 52.8 27.1 14.7 5.4

LWhToC 5 F 3,882 89.6 9.6 0.6 0.2

S5 AL = E§E 3 100.0 - - -

AHDHE ER) 9 - 100.0 - -

EHOHE B B 35 100.0 - - -
* W -

R 296 78.4 18.0 3.6 .

A 12 100.0 - - -
W B -

on T2 # 1R 2 100.0 - - -

N 345 81.5 15.5 3.1 -

AHED i &/ & 7,289 93.2 47 2.1 0.0
AHEDD = E -

IILS—L—H *x W 1 - 100.0 - -

LGCY Ik z B 7 100.0 - - .

*x W 6 100.0 - - -

Iz B 7 - - 100.0 -

g% m 18 77.4 226 - -
E R -
L B -

N E 38 70.9 11.0 18.1 -

BiEU m K 3 - 100.0 - -

S 6 - - 34.2 65.8

E W 22 - 100.0 - -
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(BBI: ko, %)
o n = £ & tt #=
w1 ER | B T2 122 3% [mea
BIEU(DDF) B H# 16 - 100.0 - -
£E % 62 55 92.8 1.7 -
I B 45 - 99.9 0.1 -
% | 1 - - 100.0 -
ZF AN 193 - 100.0 - -
= E 18 23.3 76.7 - -
HoE 69 5.2 56.6 36.9 1.2
O -
E W 4 7.4 22.1 70.6 -
E R 181 - 85.5 7.9 6.6
L B 14 - 100.0 - -
B X -
on 12 #2 7 - 27.0 73.0 -
N E 640 1.8 87.6 8.1 26
HLTEL & 1,176 67.9 30.0 2.1 -
VB R e F N 421 - 99.9 0.1 -
on 12 #2 -
N 421 - 99.9 0.1 -
KEF A = W 65 9.8 90.2 - -
5 B 370 20.7 62.0 16.8 05
w K 283 29.0 704 0.6 -
% X 370 - 50.1 30.7 19.2
= B 196 - 83.4 16.6 -
B OB 455 - 85.4 14.1 0.5
i T8 84 4R 398 15.3 223 57.8 4.6
N E 2,151 105 61.7 23.4 43
BEIZLY g B -
BTAEEEL £ & 5 14.4 79.0 6.6 -
w7 701 66.0 23.6 6.7 38
on 18 8 4R =
N F 707 65.6 24.0 6.7 338
BlFE»DE it & & 5,749 87.0 10.2 26 0.2
BhoEA E W 2 - - 100.0 -
W XOHE = 12 - 100.0 - -
I [E 41 97.4 26 - -
I 54 74.8 25.2 - -
hiFlEL 5 F 90 80.5 19.5 - -
on 1E 8 4R -
N E 90 80.5 19.5 - -
ER=asdal E % 5,782 71.9 26.0 2.1 0.0
ENE K 11 - 99.4 0.6 -
BNE4LS | 36 65.1 115 3.8 19.6
HEBEE *x W 1 100.0 - - -
R 6 - 54.7 453 -
o R 1 - 100.0 - -
N 8 96 53.6 36.8 -
HEDR % 388 92.7 6.0 1.3 0.0
E E 4 - 100.0 - -
B X -
on 18 8 4R 2 100.0 - - -
N 395 91.8 7.0 1.2 0.0
==KYA it ' & 2937 94.5 3.9 15 -
it it i & 15 33.1 66.9 - -
ES dasll] = 8 50.2 26.5 23.3 -
* W 99 48.2 480 38 -
B E 9 - 38.2 38.2 23.6
B E 961 29.8 46.1 220 2.1
wm = 157 11.7 72.6 14.9 0.8
o B 497 2.1 22.9 75.1 -
= H# 138 35.1 62.4 25 -
E % 154 20.1 459 340 -
g B 14 975 - - 25
% [F 186 39.1 52.2 6.3 24
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(BAL:kr. %)

o n = & tt &=
[=]=] EE i‘“."! g&\ a 2 % 3 % fE *g‘ %
FXEhHY (DDF) T A 26 39.4 60.6 - -
= B 3,308 29.8 64.2 59 0.1
HoE 9,511 39.8 56.0 42 0.1
= 2,098 51.1 408 6.6 15
X 967 178 60.4 20.2 1.6
E E 5,847 20.6 68.3 10.4 0.7
= B 182 54.8 29.5 14.4 1.3
n 3 W 1,109 49 59.5 33.1 25
B W 324 56.7 36.3 48 23
L B 98 74 76.6 14.1 1.8
m B 503 373 46.6 123 37
F N 4 - - 56.6 434
T B 228 28.2 68.8 2.1 0.9
B A -
B X 4,258 0.3 78.7 18.3 27
on T8 88 4R 5 33 96.7 - -
N 30,691 27.3 60.4 11.4 1.0
EHLTH B | 3,781 71.6 22.7 49 0.7
ZF AN 18 51.7 48.3 - -
= = 346 13.9 58.7 25.8 1.6
o' 3,727 82.2 16.1 15 0.2
m A 39 90.3 42 55 -
X R 121 34.7 61.6 37 -
E E 3,504 60.5 35.7 3.2 0.6
n 1l 1,351 54.5 408 41 0.6
E m 6,505 76.6 19.9 3.2 0.3
E R 14,000 59.0 32.3 6.3 23
W 10,223 63.5 31.8 4.1 0.6
L B 234 99.6 - 0.4 -
W o 5,909 835 135 26 0.3
T B 52 43.7 52.3 40 -
B A 31 1.9 98.1 - -
im T8 88 4R 88 991 0.1 0.8 -
I 49,930 67.7 27.0 4.4 1.0
SlEDE @ W 1 - 100.0 - -
L EB =& 487 80.0 18.6 14 -
RDIES Eo 2327 82.0 16.6 15 0.0
FI=F% 23] 71 - 100.0 - -
=51F F 108 93.9 6.1 0.0 -
=55397 B B 25,280 93.8 39 2.3 0.0
E5YA 9 49 87.2 9.0 39 -
2 88 A -
N E 49 87.2 9.0 39 -
2OLRE ElE 1,879 0.2 7.7 66.0 26.1
o A 193 9.1 420 48.9 -
w 13 - 76.5 - 235
& W 4 100.0 - - -
L B 10 100.0 - - -
w0 9 71.9 28.1 - -
N E 2,107 1.9 11.3 63.3 23.4
ZEADOHSH o| -
W 366 6.5 87.1 6.4 -
E % -
g [ -
B 366 6.5 87.1 6.4 -
£ I B -
B ESH % | -
s ) 42 5.8 13.2 81.0 -
B 42 5.8 13.2 81.0 -
SR DLY< 5 _F 17,731 97.0 2.9 0.1 0.0
FALSA f M 1,619 285 63.1 8.2 0.2
on 18 8 4R -
5 1,619 28.5 63.1 8.2 0.2

-13 -




(BAL:kr. %)

o n = £ & tt #=

[=]=] *i EE i‘“."! g&\ a % 2 % 3 % fE *g %

(ESADREE BE X 7,141 52.7 446 2.1 0.5

{ESAD T FES 1,562 53.1 40.7 43 1.9
29U = W -

&<l 2 [ 8,773 62.5 34.0 25 0.9

FAEES = B 820 57.4 35.7 6.8 -

EwHL OB 69 30.6 67.3 - 2.1
E B -

£ 15 57 11.1 88.5 0.3 -

B 127 21.8 76.9 0.1 1.1
ENORR /7 N -

F o= 2 - - - 100.0
X -

M W 90 64.2 348 10 -

5 B 1,465 81.0 16.6 2.1 0.3

T 1,178 90.5 8.9 0.6 0.0

X & 380 52.3 440 1.8 2.0

miEWR 11 20.8 79.2 - -

IhE 3,126 80.3 17.8 14 0.4

WAL L B 259 98.0 1.6 0.4 -
on 18 8 4R =

N 259 98.0 1.6 0.4 -

EHEER B 17 7.3 51.4 27.7 13.6

= 7 78.3 45 17.2 -

N E 24 28.9 37.2 245 95
EHEHE = = -

CLLVRE m o8 72,546 14.8 75.0 99 0.4
KRR ¥ B -
on 18 8 4R =
B -

BmoNEY S 43 - - 75.7 243

E I8 0 - 100.0 - -
on 18 8 4R =

B 43 - 1.0 74.9 24.1

asehY 5 & 5 100.0 - - -

5 F 52 92.0 8.0 - -

T O 1,035 52.6 423 5.1 0.0

o A 179 341 61.1 46 0.2

w2 6,117 44.4 52.6 2.8 0.1

= B 104,731 74.3 245 1.1 0.1

* 104,069 45.7 48.2 5.7 0.4

i N 93,788 85.6 135 0.8 0.1

B 1,912 49.4 30.7 19.6 0.3

% E 8,373 8.2 54.4 36.7 0.7

F o= 69,540 86.8 12.3 0.8 0.2

= 21 10.4 80.9 8.7 -

m o8 250,690 5.0 422 49.3 35

= W 70,014 46.4 46.0 73 0.4

A N 39,232 74.3 23.3 1.9 05

E H 24,136 785 16.8 2.2 25

[T 4,248 76.9 21.3 1.8 0.1

E % 63,678 93.8 5.5 0.7 0.0

g B 7,855 52.0 426 43 1.2

% g 15,420 80.0 16.1 3.6 0.4

ol 13,139 44 58.8 358 1.0

= =B 43919 27.7 68.5 35 0.3

B3 B 23,293 435 53.9 25 0.1

= O 10,593 60.7 31.9 6.6 0.8

X 36 18.7 70.6 7.1 36

E E 18,059 35.4 54.1 9.8 0.6

= B 612 86.3 9.7 3.2 0.8

0 2 W 370 1.1 755 20.9 25

E m 7,287 298 60.8 8.8 0.6

E R 15,010 55.5 31.1 11.3 2.1
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(BBI: ko, %)
o n = £ & tt #=
o & E i N = > = 3 = (BB

aveh) (DDF) [ 8,569 76.9 20.2 22 0.7
L B 21,458 86.2 12.6 1.1 0.1
I 8,307 77.8 20.6 1.1 05
m OB 11,545 41.1 51.8 6.4 0.6
= ) 3,640 35 89.1 74 0.0
B g 6,601 445 51.9 3.2 0.4
= AN 13,168 19.4 68.6 10.3 1.6
2 | 587 10.5 87.5 2.0 -
kB 2,898 86.0 13.0 0.9 0.0
E & 1,399 36.8 59.2 3.7 0.3
B X 7,230 52.2 441 3.4 0.3
X 4 1,217 72.1 20.1 5.6 22
w7 15,359 74.9 20.9 3.1 1.1
BERE 4,649 55.6 39.3 44 0.6

on 12 #4 1R -
INOE 1,104,041 50.2 34.3 14.4 1.1
aTeEAVE1IE Z=E -

_ERPEVLD I B -

E=y | = B 35 100.0 - - -
MoH 44 100.0 - - -
= B 56 92.6 1.9 55 -
% X 79 68.9 24.0 7.0 -
F o= 332 99.1 0.9 - -
R 81 - 50.9 49.1 -
m N -

12 36 68.2 - 318 -
T} 65 90.2 33 6.5 -
E % 66 86.6 11.1 24 -
m B -

on 18 8 4R =
B 794 824 9.3 8.3 -

JaEAHY B B -

EEDEA = F 925 92.4 6.6 1.0 0.0

SLIS55B B B -

FEDHHPE B £ 10,689 14.8 20.8 30.8 33.6

FAOEX AN B E 11,435 57.4 32.6 9.2 0.8

EDFIFAHS % -

EDHDY B E 1 - - - 100.0

SAULY 1 =B 13,390 82.9 16.9 0.1 0.1

=uohY = 2 59.7 40.3 - -

HHkaL M H 5,453 93.4 6.2 0.1 0.4

HH 5L =2 W 40 9.4 27.7 38.0 24.9

JH-I % " F 339 45.7 34.4 126 7.3
o 11,053 439 50.7 5.1 0.2
oA 450 333 48.9 15.1 2.6
w2 1,074 125 56.7 28.7 2.1
= B 70 55.9 36.4 76 -
/7B N -

HoE 9 51.3 48.7 - -
on T8 88 4R 13 31.4 - 427 25.9
I\ 13,008 41.0 50.6 7.7 0.7

IHEERXK =2 W 2 — - 100.0 -

SELFA = 22 - 88.6 11.4 -
® B 157 42.0 55.8 22 -

on 12 #2 -
N E 179 36.9 59.7 3.3 -

BowE w2 1 - 77.3 227 -

BINDDOA E B 8,469 84.0 13.6 2.3 0.1

THELNFEWL F 91 100.0 - - -

Shhsy IS 17 6.0 8.0 81.8 4.2

SHhDIEi e 39 0.5 57.3 421 -

ShUuhy B 4 - 100.0 - -

SASAED it & & 1,216 69.0 25.1 49 1.1
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(BAL:kr. %)

o n = % & it =

o & E i w3 = > = 3 = (BB

HE83F 3 B 196 85.1 14.9 - -

LALDHDY M o|E 134 81.3 18.3 - 0.4

= = 27 100.0 - - -

N E 161 84.4 15.2 - 0.4

EK 15 I B 9 100.0 - - -

Sy AN —)L B HF 146 68.0 274 - 46

&5 T W 14 - - 100.0 -

R 39 - 2.8 93.9 3.3

E W 13 - - 100.0 -

A N 11 - 100.0 - -

5 1R 7 - - 100.0 -

N E 84 - 14.4 84.0 15

HEZECC wm K 4 99.1 - - 0.9

% E 155 21.6 445 27.1 6.8

i T8 §4 4R 9 - 100.0 - -

N E 168 22.0 46.6 25.0 6.3

B ER ) 23,674 94.9 45 0.2 0.4

AR/—/\—]L . H 25 - 100.0 - -

ERDEE 5 & 10,249 57.3 422 05 -

BRDOHS H g B 99 438 432 13.0 -

fEDIZL w0 11 25.2 73.8 10 -

TR B 87 - - 99.9 0.1
on T8 88 1 =

N E 87 - - 99.9 0.1

ZopE it i & 3,015 97.4 2.6 - 0.0

Koz o 2,291 0.1 51.4 479 0.7

2 8 96 93.9 1.4 47 -

H 2,387 338 49.4 46.1 0.7

Kithp 2 B 1,049 78.0 8.2 13.8 -

=Hhi=-0r s F 227 94.3 3.0 1.7 1.0
f=hta#&HDY) A -

=1 85 86.5 9.3 43 -

&t 85 86.5 9.3 43 -

=hFESY B 68 - 70.3 - 29.7

f==1-T 74 54 8.7 90.6 0.7 -

=6135h JES 50 54.4 456 - -

pal| 27 - 434 56.6 -

B K 396 - 100.0 - -

X & 119 - 95.8 42 -

on 18 8 4R 192 14.1 63.2 228 -

B 784 6.9 85.0 8.1 -

ECTEE R 3,214 97.6 2.4 0.0 -

AEDE r B 1,052 24 75.1 224 0.1

LIEHDY 5 F 49 75.8 242 - -

= 360 59.3 394 1.3 -

M| 4,929 78.3 18.5 25 0.7

W 325 86.3 13.7 - -

= B 870 66.3 334 0.3 0.0

o o8 658 55.0 34.6 2.1 8.3

E E 569 441 54.7 10 0.2

. 12 8% 4R 180 67.3 27.0 34 24

N E 7,940 71.8 25.1 1.9 1.2

B UMY bR 110 25.1 74.9 - -
on 18 8 4R -

N 110 251 74.9 - -

FI=F% B B 2,343 775 18.8 35 0.1

* W 876 54.6 433 20 -

Z 269 96.0 1.8 2.2 -

o 2 #4 7 - 100.0 - -

N E 3,496 73.1 23.8 3.0 0.1

SOABATY T & 10,434 60.9 35.8 3.2 0.1

2EHMY F & 468 93.0 7.0 - -

=OF 1,666 88.1 9.4 2.3 0.1
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(BAL:kr. %)

o n = £ & #=
[=]=] *i EE i‘“."! g&\ a % 2 % 3 % fE *g‘ %
DEHMY (DDE) = W 3,576 91.5 8.2 0.1 0.3
/| 733 82.2 17.6 0.2 -
w2 1,118 81.4 17.2 14 -
= B 2,054 62.3 335 40 0.3
*x W 112 87.9 12.1 - -
F = 340 65.2 348 - -
o o8 7,984 95 73.7 16.5 0.3
E W 783 40.4 54.8 438 -
A 2,203 82.7 14.2 3.0 0.1
E HF 642 89.9 9.8 - 0.3
£E % 1,443 93.7 5.9 04 0.0
E E 299 27.7 62.0 10.2 0.1
E W 13 429 57.1 - -
g ® 336 27.9 64.0 8.2 -
5 B 731 90.3 8.6 1.1 -
on T8 88 4R 455 46.4 51.1 25 -
N 24957 56.8 36.5 6.6 0.2
VoL RIL 7 M 404 9.3 88.8 - 1.9
on 12 # #A -
N E 404 9.3 88.8 - 1.9
HKLAFA B [ 2 - 86.0 - 14.0
2K[ESD1E = -
o| -
w 185 14.9 59.7 25.4 -
s B 115 53.3 46.7 - -
*x W 225 71.9 23.7 44 -
F E -
S 314 6.1 9.7 82.5 1.7
E W -
= H 115 6.1 - 93.6 0.3
8% m 1 - 71.4 28.6
= = 17 - 100.0 - -
o' 97 20.7 79.3 - -
L B 11 - 100.0 - -
B X -
i T2 8% A -
B 1,080 275 32.7 39.3 0.5
K[ESD2E M o|E -
W 6 - 30.6 69.4 -
g B 2,638 76.4 23.3 0.2 -
* W 281 48.7 51.3 - -
S 121 - 91.0 9.0 -
= W 1,315 77.3 19.4 2.7 0.6
on 18 8 4R =
B 4361 72.7 25.9 1.3 0.2
MY S F E 7,615 83.9 14.1 1.3 0.7
DRFEA o om|m 718 16.5 79.0 45 -
on 1E 8 4R =
B 718 16.5 79.0 45 -
DARE g7 & -
D2PEED & [ 185 51.2 488 - -
DPELY E ® 3 100.0 - - -
2 M 5 - 100.0 - -
BEE K -
I\ 8 37.8 62.2 - -
DR T W 22,933 875 11.5 0.9 0.0
w2 40,234 52.7 471 0.2 0.0
(Tt 25 64.3 35.7 - -
g B 55 8.7 86.3 - 5.0
M 79 26.9 68.5 1.9 2.8
E R 4,380 53.1 39.5 7.0 0.4
T =B 124 99.0 1.0 - -
E & 529 91.0 - - 9.0
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(BAL:kr. %)

o n = £ & j5d ES

i " E R | B H V=2 T2 3 2 [BBa

DPIE(DDE) X & 2,367 59.6 35.6 35 1.3

= 60 96.0 40 - -

I\ 70,787 64.6 34.3 1.0 0.2

HPFELY W ¥ 240 39.9 46.0 141 -

ThIEY = 382 22.1 754 24 0.2

,,,,,,,,,,,,, = 7,047 89.7 9.4 0.7 0.1

B 7,430 86.2 12.8 0.8 0.1

KEDEF = =B 157 97.6 24 - -

TAT=HK E W 15,079 89.7 7.6 24 0.3

X R 2 - 100.0 - -

s 42 394 57.9 26 -

I 15,123 89.5 7.7 2.4 0.3

XDD A E B 32,661 70.8 24.8 41 0.3

XEZLX E H 198 71.4 27.8 0.8 -
on T2 #4 1R -

N E 198 71.4 27.8 0.8 -

HEI1948 EHR 793 89.9 10.1 - -

+%0 = A 129 - 56.7 43.1 0.2
EDEED = W -

EEbL 2 [ 32 - 100.0 - -

T1EER = A 12 - - 100.0 -

EHEEDE K 29,866 93.1 6.3 0.3 0.2

crOoxo+ ST 336 36 82.9 13.1 0.4
o 1E 87 =

N E 336 3.6 82.9 13.1 0.4

ERDBHLH * 117 67.6 14.4 18.0 -

/7 N 5 41.1 58.9 - -

% E 14 - - 91.2 8.8

F o= 64 66.0 34.0 - -
on 18 8 4R =

N F 200 61.8 20.8 16.8 0.6

EFXAIEH [T 256 89.5 10.5 - -
on 18 # #A -

N F 256 89.5 10.5 - -

(= b = 5 F 26 50.2 498 - -

T W 182 61.5 21.3 17.2 -
on T8 #4 1A =

N E 208 60.0 24.9 15.1 -

215 Z 51 - 100.0 - -
o 1E 87 =

N 51 - 100.0 - -

EEHE *x W 2,322 454 48.3 6.3 -

F o= 30 - 100.0 - -

A 177 319 28.3 32.4 74

E E 140 71.3 23.2 55 -

= A 40 - 3.0 73.0 24.0

B A 368 3.2 57.3 39.2 0.3

BERE 83 - 21.6 76.2 22

miEWR 250 10.4 88.2 14 -

N E 3410 36.6 49.4 13.2 0.8

EAEZN ;o8 22 - 77.9 17.0 5.1

E W 3 100.0 - - -

m 28 17.0 71.3 11.7 -

= E 234 7.1 85.7 7.2 -

O 91 84.5 15.5 - -

E E 975 49.4 40.7 9.9 -

5 B 6 74.8 17.6 - 76

on T2 88 4R 2 59.4 40.6 - -

N F 1,361 433 478 8.8 0.1

EAULRY 5 _F 419 70.0 19.3 9.9 0.8

hEFFR E E 100 26.2 73.8 - -

W 111 100.0 - - -

5 B 973 82.7 15.8 1.3 0.3

- 18 -




(BBI: ko, %)
= Y £ % %& J:I: $

[=]=] *i EE i‘“_"! gt.\ ] % 2 % 3 % fE *g‘ %

FAEFHFAR(DIE) T 1,066 98.4 1.3 0.3 -

on 18 8 4R 85 322 59.8 8.0 -

N E 2,335 86.4 12.5 1.0 0.1
MAH)J vk *x W -
w E -
F ¥ -

S 1 - 100.0 - -
o -

N E 1 - 100.0 - -

HIYpE L) 3 100.0 - - -

TTUOMY I K 6,190 85.5 13.4 1.0 0.1

HOL\A = 1,386 55.6 422 2.2 -

HOELY F 4 1,184 87.9 11.0 1.2 -

HOLEHh g% M 74 98.2 0.4 1.4 -
on T2 # #R -

N 74 98.2 0.4 14 -

BENEH = I 1,564 36.9 46.3 15.2 1.6

+veHhl = 197 35.1 54.0 6.7 4.2
on 12 # 1A -

N 197 35.1 54.0 6.7 4.2

RSIEINY N E 1B 2,978 65.4 31.7 26 0.3

X & 3,730 57.3 37.2 46 0.9

B IR B 3,776 448 435 10.4 14

I 10,484 55.1 37.9 6.1 0.9

DXL it & & 183,281 93.0 6.5 0.4 0.1

EEZES = 435 56.2 40.7 3.1 0.1

IZ2F3 m K 3 495 50.5 - -

b B 12 100.0 - - -

F E 9 51.5 482 0.3 -

E W 102 100.0 - - -

A 46 26.4 73.6 - -

E HF 56 96.2 3.7 0.2 -

% g 1,955 83.3 1.1 5.1 05

F 320 87.2 10.3 2.4 -

o' 716 94.4 37 1.9 -

m A 9 97.3 - 1.4 1.4

X R 369 63.4 33.1 35 -

E E 143 61.7 33.2 39 1.2

M ;oW 273 67.3 30.2 15 1.0

E R 104 42.1 57.0 0.9 -

B W 4,392 89.5 10.3 0.1 0.0

L B 57 69.8 23.6 6.6 -

T 229 95.0 45 0.4 0.1

E 137 73.8 23.3 1.3 1.6

T B 1,993 69.6 26.0 41 0.3

= 1,231 27.8 60.6 8.7 29

2 631 50.4 46.8 2.9 -

® B 107 65.0 35.0 - -

E & 3,731 76.9 21.2 1.6 0.3

B X 2,147 52.5 456 15 0.4

x % 694 54.8 375 6.4 1.3

OIS 174 82.3 14.6 2.0 1.2

BERE 79 52.8 455 18 -

i FE 88 1A 52 100.0 - - -

B 19,771 72.6 24.4 26 04

IZLmEsHE T W 198 99.9 0.1 - -

* W 10,862 75.1 229 20 0.1

/7 N 916 67.6 26.8 55 0.1

B E 2,603 84.6 13.9 15 0.0

F o 1,479 83.5 11.2 35 1.7

£SO ) 5,298 17.8 72.2 9.3 0.7

Y= I 90 82.0 18.0 - -

T 32 91.6 3.4 49 -
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(BAL:kr. %)

o n = % & it =

o & E i w3 = = 3 = (B & A

IZLDESHE(DDF) gz B 870 33.7 59.2 3.0 4.1

% [ 1,307 75.7 17.4 5.7 1.1

AN 360 75.4 18.9 - 5.7

= =B 1,103 35.4 62.5 05 15

HoE 1,405 82.1 16.6 1.1 0.1

M oW 257 23.6 66.0 7.3 3.2

B W 138 96.0 36 0.4 -

kB 239 74.1 23.0 0.3 2.6

B 27,155 62.3 33.4 3.7 0.6

H Ak *x W 51 824 16.7 0.9 -
m K -

% E 31 - 23.7 72.0 43
E W -

A N 123 100.0 - - -

= H# 1,624 68.8 26.5 39 0.8

g B 10 34.8 175 - 47.7

HoE 4,628 51.7 442 40 0.1

m O 129 86.2 9.1 47 -

E E 508 33.0 61.6 49 0.6

M 3w 8 3.9 775 18.6 -

E W 42 52.6 453 2.1 -

W 14 7.9 88.2 39 -

I 2,820 82.7 15.3 20 -

m B 1 - 100.0 - -

B B 22 65.6 34.4 - -

o T2 8 15 60.2 33.0 44 2.4

N F 10,026 63.2 32.9 3.6 0.3

/1B IS 39 20.8 73.3 5.9 -

EM1E ) 2 58.5 415 - -

EM218 A 4 58.1 41.9 - -

E48E w3 165 14.6 488 34.0 2.6
o 1E 87 =

N 165 14.6 488 340 26

BEZEUMY =l 961 73.2 22.7 3.2 0.9
X225 *x W -

B | 5 275 - 72.5 -
ZF AN -

W 37 - 100.0 - -

o R 47 - 100.0 - -

N E 89 1.7 93.9 4.4 -

NATJyRESTS535 *x W 593 45.1 34.3 20.6 -

B F 107 - 100.0 - -

I B 15 100.0 - - -

B OB 380 2.9 96.0 1.1 -

o R 33 9.8 90.2 - -

N E 1,127 26.3 62.5 11.2 -

NATYyREST545 M | 1,164 19.8 75.5 45 0.2

on 1E 8 WA 8 - 100.0 - -

N E 1,171 19.7 75.7 4.4 0.2
[FLMES B B -
[Zx8hE o | -

w 123,424 36.1 61.2 25 0.2

= B 216 70.2 29.8 - -
*x W -

ST 2 - - 100.0 -

B F 135 945 55 - -

&= ) 10 - 80.2 19.8 -

on T8 88 1A 5 90.0 10.0 - -

N 123,798 36.3 61.1 25 0.2

F=EonEY =l 0 - 100.0 - -

[Ef=1E>1-A 5 2 - 100.0 - -

,,,,,,,,,,,,,,,, B H 1 100.0 - - -

N 3 438 56.2 - -
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(BBI: ko, %)
= Y £ % %& J:I: $
o & E i w3 = = 3 = (B & A
EAAHDY ER) 574 63.2 33.6 25 0.7
INYDE g £ 8,439 60.6 31.2 5.3 28
ZF AN 134 70.0 29.9 0.1 -
on 1E 8 4R 6 - 100.0 - -
N E 8,578 60.7 31.2 5.2 28
NFIFEY E W -
I 1,239 83.8 14.6 15 0.1
B HF 21,596 91.3 5.6 0.6 24
% B 547 74.3 25.7 - -
E E 123 185 72.2 9.3 -
M W 59 15.3 79.6 47 0.3
E m 3 94.1 5.9 - -
E R 356 71.2 25.8 2.7 0.4
m B 443 58.8 37.9 3.2 0.1
ih T8 §4 4R 19 67.4 326 - -
N E 24,385 89.1 7.9 0.8 22
X351 T W -
w 0 100.0 - - -
E W -
[TE. =
I\ 0 100.0 - - -
A F3 BERE 2 100.0 - - -
TR DEN W 2 100.0 - - -
g B 7 30.7 68.3 0.9 -
B 9 479 51.4 0.7 -
[X5H *x W 14 100.0 - - -
= 3,512 14.6 79.3 5.8 0.2
,,,,,,,,,,,,, a5 14 13.3 75.6 8.4 2.7
N E 3,540 15.0 79.0 5.8 0.2
55 W O 818 82.3 14.4 1.0 2.3
lEni=y 5 & 8,273 69.2 29.1 1.7 -
ExTY IS 47 - - - 100.0
EAYLA 2 HF 28 88.3 11.7 - -
UhES E E 222 61.3 26.4 12.3 -
B W 64 79.5 205 - -
2 # 10 100.0 - - -
BE X 129 37.6 61.6 - 0.8
o T2 8% A 18 86.0 10.3 - 38
N 443 58.8 346 6.2 0.4
EAUEHE /7 N 4 100.0 - - -
F OE 4 100.0 - - -
R 4 - 72.0 28.0 -
= = 28 440 55.7 0.3 -
M B -
O 15 100.0 - - -
g &E 3 2.0 98.0 - -
M W 134 - 97.9 1.6 0.4
E m 1 16.7 83.3 - -
M W 2 - - 97.2 28
L B -
m B 0 - 100.0 - -
2 A 0 - 100.0 - -
BE K 107 - 71.7 26.1 23
N E 301 11.6 76.4 11.1 1.0
EAJva IS 8 - 21.3 70.0 8.6
VEDHITN T & 14 89.1 - - 10.9
= oF 85,650 90.2 9.2 0.4 0.1
T 127,985 86.7 12.8 0.4 0.2
o A 15,920 82.7 15.3 1.9 0.2
w 12,559 53.8 433 2.7 0.2
= B 39,832 84.3 14.8 0.7 0.2
* 1,006 77.8 20.4 1.8 -
W K 122 92.5 6.6 0.9 -
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(BAL:kr. %)

o n = £ & tt #=
R B E W) B F Z [ 2 2] 3 Z [HRA
VEDIFN(DDE) B E 606 9.1 61.6 27.0 2.2
F oz 352 86.6 115 0.7 1.2
o 8 379 27.6 49.4 12.4 10.6
= W 23 58.0 354 6.6 -
m 251 64.7 31.9 2.7 0.8
12 55 94.4 5.6 - -
[T 29 48.9 40.9 9.3 0.8
E H 325 95.8 1.8 2.4 -
g B 861 37.0 57.4 3.4 22
B | 205 51.6 38.9 95 -
Al 346 19 97.2 0.7 0.2
= B 19 58 94.2 - -
o5 391 51.9 46.2 1.8 0.0
X R 3 50.4 20.0 29.6 -
= B 730 73.7 23.9 2.2 0.2
B W 3,729 336 60.5 5.6 0.3
B W 501 71.2 25.8 26 0.3
5 B 2,391 86.3 13.1 0.5 0.0
T 7,769 73.2 23.7 29 0.2
m OB 0 100.0 - - -
T B 12 50.0 50.0 - -
= A 8 - 96.4 3.6 -
N 306 66.4 28.5 29 22
X » 2,654 76.9 21.2 15 05
T G 0 - 6.3 93.8 -
e -] 1,001 60.8 26.3 9.3 36
mE®M 5 84.6 15.4 - -
I 306,041 84.0 14.9 0.9 0.2
=D TTET 294 485 48.2 1.6 1.6
I £ 5 51.4 48.6 - -
% g 200 94.2 48 10 0.0
= E 56 20.4 76.5 3.1 -
A 285 64.8 27.7 6.0 15
= A 2,456 28.1 60.9 10.3 0.7
X R 2,712 46.7 39.6 13.6 0.1
E E 6,960 61.6 35.3 3.0 0.1
= B 10,738 89.2 9.5 1.2 0.2
M oW 243 16.6 72.1 9.7 1.5
E W 16 80.0 20.0 - -
E R 18 - 42 12.9 82.9
B W 5,228 53.7 427 33 0.4
L B 1,415 494 421 74 1.1
w o 4534 55.2 36.5 7.7 0.6
m OB 352 39.2 478 9.0 39
= ) 3,090 44 89.9 5.2 05
B g 3,285 19.0 73.7 6.3 1.0
= AN 2,359 6.9 64.9 24.6 3.6
= | 10,819 13.7 81.7 36 1.0
kB 6,723 32.2 66.4 14 0.0
£ & 2,535 33 90.2 6.2 0.3
BE X 24,822 28.4 66.6 41 0.9
X & 10,916 50.7 446 44 0.3
w7 11,027 21.0 66.2 118 1.0
BERE 15,256 24.2 56.4 18.3 1.1
im TE 88 4R 3 - 100.0 - -
s 126,349 36.3 56.0 7.0 0.7
IBECDH * W 12 26.7 733 - -
L B 15 26.1 73.9 - -
EF N 57 80.1 19.9 - -
E [ 8 - 100.0 - -
mE®M 2 - 91.3 8.7 -
I 97 57.3 425 0.2 -
VHDZE E 1B 2,379 85.9 13.0 1.1 0.1
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(B

. %)

o - £ & it =
" = E M| K E 2 = [ 3 E [ERER
Do EARR Z=I 10,536 88.0 10.2 14 0.3
EEPOHELED E E -
rS\<a)L\t_> E% |E.| —
SLDT 2 M 217 - 5.6 64.1 30.3
ADEH 2 B -
29EHY = W 1 100.0 - - -
= HF 2 100.0 - - -
- 1 - - 100.0 -
E E -
Z IR -
= AN 176 316 67.7 0.4 0.3
on 1E 8 4R =
N E 180 32.6 66.2 0.9 0.3
AV UE A 50 - 100.0 - -
SED X 5,722 77.9 19.8 2.2 0.2
T FH E HF 51 95.7 43 - -
(=ER 2 B 360 76.2 215 2.3 -
AEBED F = 18,329 92.2 7.0 0.6 0.2
SEThHh F E 40,775 89.6 9.3 0.9 0.2
AL =i w2 307 325 54.2 13.3 -
= B 97 63.3 36.7 - -
N E 404 39.9 50.0 10.1 -
SoKYAC it & & 16,778 76.4 17.6 5.9 0.1
EEE = W 6,630 93.0 5.9 0.9 0.2
TVoEANEY E m 4 - 100.0 - -
roLA L B -
LfE1938 B X -
on 18 8 4R 1 — — - 100.0
B 1 - - - 100.0
IZLLAL *x W 1,696 35.7 59.8 45 0.0
i N 1,869 82.3 17.2 05 0.0
g B 2,188 17.3 79.2 3.0 05
ZF AN 197 54.9 378 7.2 -
= = 1,427 10.9 84.3 46 0.2
w7 577 5.2 60.3 34.2 0.2
on T2 88 4R 1,402 38.6 384 13.8 9.2
N F 9,355 35.9 55.9 6.6 15
E2xEE E W 2,812 65.2 335 1.3 0.0
EZLDOR & i &' & 922 94.0 49 1.1 0.0
IEZLES I i & 337 95.6 44 - -
R EH T® =B -
FoMYA 5 & 346 91.2 35 44 0.8
FOTHE 5 F 59 100.0 - -
B B -
*x W -
a -
= HF 96 90.2 9.8 - -
E H -
# B -
" A -
E &E 32 55.0 19.1 24.0 1.9
m B -
B A 151 33.3 39.9 21.0 5.8
o 1E 87 =
B 338 63.1 22.4 11.7 28
EFLH oy B IF 157 31.7 40.3 28.0 -
on T2 #4 1A -
N E 157 31.7 40.3 28.0 -
EJAY0Y.») 2 B 68 98.0 20 - -
on 18 8 4R =
N E 68 98.0 20 - -
FoLLD 5 & 134,015 69.4 29.0 15 0.2
WIL=3 Z IE 495 413 56.2 2.2 0.3
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(BBI: ko, %)
= Y £ % %& J:I: $
o & E i w3 = = 3 = (BB
KUK = # 7 8.1 79.1 12.8 -
X 18 15.5 69.5 15.0 -
N E 25 13.4 72.2 14.4
EACHCR)) = 4,999 89.2 10.6 0.1 0.2
on T2 #8 #R -
N E 4,999 89.2 10.6 0.1 0.2
FASNKTBY . H 2 65.0 35.0 - -
=E238 = 1,121 94.6 42 1.2 -
HADZH = B 6 58.8 412 - -
on 18 8 WA =
N 6 58.8 41.2 -
HZDP D = E 1,633 46.0 49.2 47 0.1
on T2 # #A -
N E 1,633 46.0 49.2 47 0.1
HT HHH 3 B 10,560 86.8 12.8 0.4 0.1
RfEES W 14 100.0 - - -
E B 75 81.1 15.5 35 -
N E 89 84.0 13.0 29 -
#%358 T 5,102 - 8.9 90.9 0.3
on 18 8 4R =
I\ 5,102 - 8.9 90.9 0.3
SXRFHS N 925 - 5.6 94.4
miEWR 49 19.9 - 472 32.9
N E 974 1.0 - 7.7 91.3
AT IZDIEE 5 6,466 11.0 73.6 14.7 0.7
on T2 88 4R 33 10.7 89.3 - -
N E 6,499 11.0 73.7 14.6 0.7
HDOUMY =m B -
*x W -
/7 N -
% E -
F ¥ -
S -
E W -
m N -
E HF -
I B -
% m 2 - 100.0 - -
ZF AN -
= =B -
% B 215 - 100.0 - -
E E -
E W -
W o -
T B -
B X -
X % -
on 1E 8 4R =
N 217 - 100.0 - -
HEYE % B 33 67.5 32.5 - -
I [E -
N E 33 67.5 32.5 - -
IRT7HE I B 21 27.7 408 22.2 9.3
ZF AN 1,758 59.8 24.1 15.8 0.3
M 3w 4 - 49.6 39.0 114
on T2 # #R -
N E 1,782 59.3 24.4 15.9 0.4
HRlE B 2 M 55 74.0 26.0 - -
on 18 8 4R =
N 55 74.0 26.0 - -
HDIZLE g B 21 - 96.1 1.0 29
FYoKL 2 [ 344 68.7 28.8 - 25
HDY DR = 542 53.0 448 2.0 0.2
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(BAL:kr. %)

o n = £ & tt #=

& B E ) ®F ZE [ 2 2] 3 E [ERA

HDYDER(DIE) on 12 #4 1R 45 100.0 - - -

N E 587 56.6 414 1.8 0.2
HDYDFE = = -

=525 = g 1517 19.5 30.1 24.1 26.3

SILE—F—4FL 2 B 25 90.2 9.8 - -

Lx—D1—> B F 54 100.0 - - -

= B 87 69.8 30.2 - -

o= 282 63.5 33.6 3.0 -

[TV 761 46.1 50.2 3.0 0.7

= B 2,167 58.0 38.7 3.1 0.2

*x 4,982 68.7 26.0 5.2 0.1

/7 N 898 91.3 8.2 05 0.0

BB 16 100.0 - - -

% E 217 5.6 81.6 12.7 0.1

F o= 1,102 92.4 6.5 0.9 0.2

mn 8 1,918 133 59.8 24.1 28

= W 1,529 82.6 15.1 20 0.2

Y= I 645 70.5 29.0 05 -

B F 659 67.9 30.4 0.9 0.8

[Tt 48 413 56.1 14 1.1

E % 1,765 86.5 11.7 1.3 05

g £ 268 34.6 63.1 0.4 1.9
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1T 13 - - 100.0 - - -
£ B 2,404 - - 95.2 3.1 1.7 -
INE 4314 - 0.7 90.6 6.8 1.9 0.1
SHEEL 8 [ 243 - 10.4 63.7 15.4 10.5 -
TP R= T2 96 - - 495 414 8.0 1.1
B 19 - - 99.2 05 0.3 -
INE 115 - - 57.7 347 6.7 0.9
LI EER T W 46 - - 31.1 62.1 6.5 0.3
1T -
B B 230 - - 35.3 63.5 0.7 05
*x W 63 - 26.8 63.7 45 49 -
w R 1,474 0.2 16.0 70.8 6.0 2.7 43
BB 3 - - - - 100.0 -
m E 24 - - 55.7 23.9 10.7 9.7
F E 13 - - 20.0 15.5 64.5 -
wmxE N 70 - - 74.9 5.4 18.9 0.8
,on 650 - - 433 36.0 16.7 40
E W 616 - - 94.0 6.0 0.0 -
a 86 - - 785 205 1.0 -
& 80 - - 71.8 24.3 1.9 2.0
1T} 28 - 46 17.8 30.7 43.8 3.1
& % 41 - - 92.5 5.9 - 1.6
B M@ 357 - 0.4 72.1 16.0 1.3 0.2
2 A 48 - - 46.8 52.4 - 0.8
= = 285 0.8 30.6 50.2 6.8 11.6 -
# B 676 - 1.1 65.0 28.7 5.1 0.1
R O# 165 - - 38.5 46.6 10.9 4.1
X R 18 - - 78 31.7 56.5 4.1
E E 16,993 7.3 71.1 12.9 1.6 34 3.9
= R 158 - - 43.1 35.6 17.8 3.6
M oW 18 - - - 60.3 39.7 -
B mW 245 - 05 65.4 19.4 13.2 1.4
5 169 - - 35.9 47.8 16.3 -
@ W 3,327 - 0.6 76.2 48 12.1 6.3
L B 1,134 - 43 83.6 6.4 5.0 0.8
1T ! 2,210 - 25.1 59.7 43 9.3 1.6
w5 361 - 77.8 14.1 - 7.7 0.4
F 36 - - 41.8 50.3 7.9 -
E IR 27 - - 20.3 79.7 - -
= AN 28 - - - 39.9 60.1 -
& M 782 - - 79.0 16.9 3.9 0.3
' E 334 - 7.9 77.1 5.2 2.7 7.1
E 5 78 - 1.6 15.1 54.1 25.0 4.2
B K 215 - - 79.6 12.6 26 5.2
X & 89 - 9.9 7.0 23.2 58.6 1.3
=G 11 - - - 25.8 - 742
B R B -
IN BT 31,192 4.0 42.9 37.2 6.6 5.9 35
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(G b, %)

o s = % R ke &=

i i BRI EH T Tre] & % [ 3 % [

L EFE E & 125 - 93.6 1.0 5.4 - -

D& 5 F 138 - - 23.1 38.8 38.1 -

i T 315 34 16.1 56.1 18.7 3.3 25
BRI = = -

Z5E Z A 103 - 6.1 30.1 58.3 55 -

235 wm R 184 - - 58.2 37.0 0.6 43

21K 1T 81 - - 78.9 21.1 - -

24 185 - - 96.3 3.7 - -

N 266 - - 91.1 8.9 - -

Z2NE B B 1,263 - 0.1 90.7 7.0 2.2 -

ERE W= 16 - - 94.4 - 5.6 -

o8 12 - - - - 100.0 -

N 28 - - 535 - 46.5 -

=K *x W 8 - 85.8 14.2 - - -

B 48 - - 94.0 1.7 43 -

wmxE N 19 - - 348 46.8 18.4 -

Z 99 - - 51.7 430 5.4 -

N 14 - - 96.7 - - 3.3

N BT 188 - 3.7 62.4 27.8 5.8 0.2

M *x W 46 - - 436 52.0 43 -

Ef2s E & 70 - 443 45.2 8.9 15 -

E O & & % W Et 79,104 1.8 21.9 48.6 19.4 6.4 1.9

i R = # = 80,915 1.7 21.4 479 19.6 7.2 2.1
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